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KR 0,1s A&Y
Mittel
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0.037 1.018 1.006 0.001

TG621−6N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−pc−Fit
BM 0,1s A&R
Mittel

A1    A2    A3      ∆
0.067 0.889 1.243 0.003
0.037 1.018 1.006 0.001

TG621−7N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 0,1s A&G
Mittel

A1    A2    A3      ∆
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TUB-Prüfvorlage TG62; Schwellendaten Avramopolos (89)
tp=0,1s, 4 Beobachter, Mittel, P−A3−pc−Fit,  630cd/m2
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